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1. OFDEHEZLEL X9,

w9 iR 12 77 + 7 IKf[A 21 97 + 8 IRfH 44 57

o 11 BF[E 57 73 + 10 BEE] 2 73 + 9 K]

@ 9 IRFfE] 39 47 + 9 IKf[E] 55 47 + 11 IRffE] 15 47

@ 7 REE 33 73 + 9 [RF[E] 2 93 + 10 R[] 26 77

) 8 IRFfE] 42 77 + 9 IKF[E 42 47 + 7 i[5 47

o S RF[E] 12 73 + 10 FRffE] 23 73 + 11 R[] 43 73

o 8 IK[H] 45 77 + 7 IR¢fA 36 77 + 8 Ifln] 48 o

® 7 IRFfE] 15 27 + 9 IKf[E] 33 43 + 10 IRffE] 52 77
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o 1 H 1K 17 73
@ 1 H 6 K[ 59 73
3 1 H 6 K[ 49 47
@1 H3WKH 19
s 1 H 1K 29 77
© 1 H 6 KA 18 77
a1 H 1K 9 %
® 1 H 3 KA 40 93



